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Place Values|
Decimal Point
Ones Tenths
Tens \ Hundredths
—\ / Thousandths
25.386

10x Bigger

10x Smaller

\

25386=2x10+5x1+3x0.1+8x0.01+6x0.001

Rounding 25.386:

to the ones = 25

to the tenths = 25.4

to the hundredths = 25.39

25.386 x 10 = 253.86
25.386 + 10 = 2.5386

25.386 = 25.3860
25.386 > 25.3086

01=—= 00l=— 03=- 038=-2 0.386=—00
10 100 10 100 1000

Basic Operations

Addition: 3.21+4.5=7.71

2.21 Add as
Li th
def.",iemua‘: po:nte... + 4.5 usual!
A R

A and just drag that decimal
point straight down!

528 + 7.49 = 535.49

Just turn that
whole number
into a decimal!

|
52%.00

Line up the

1.49

decimal points...

R
535.49 | tvouncedto

Subtraction: 8.97 -2.82 =6.15

Line up the 8.17 Subtract
decimal points... - 2.%2 as usual!
.15

* and just drag that decimal
point straight down!

3.8-1.26=2.54

;
380 w380
== |.

do your borrowing = | 2.(p
(regrouping)! —
2.54

Multiplication: 3.1 x5.9=18.29

|

Live up the number
[ om]i:b@ rigk!m' ) ; % 5 q
21 ‘]

1 Decimal Place
1 Decimal Place

Comvt the spots
behind the decimals ; | 8 2. q | 6.3 3 O

235x7.8= 1833

235

% 1 8 1 Deumal Place

1880
+1b45

2 Decimal Places

- LVZVAY)
Division: 2.35 +5 =0.47 A1 7.5+0.25 =30 30
. Purt the decimal point 5.. 3‘..33 Wove the decimals to the .2_5 )1_50 7—5 , 150
right above the other one Fight on ot unil you are A .\7\7‘ -1 5 .L
?'5 dividivg BY a whole number T _00
—- 35 add a zero _
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Exercises: Ashley is making cookies for her office’s Christmas party.

1.Each batch of cookies mix need 0.45 cups of sugar. If
Ashley planned to 3 batches of cookies, how much sugar
does she need?

2. Ashley found 2 boxes of sugar in the kitchen. The green
box says 1.26 kg and the red box says 1.026 kg. Which
box contains more sugar?

3. She has 2 bags of flour. The smaller bag contains 0.75
kg of flour and the bigger bag has 0.65 kg more flour.
How much flour does she have in total?

4. After she finished making the cookies, she has 1.345 kg
of flour left. How much flour did she use?

5. Ashley ended up making 2.5 batches of cookies. Each
batch of cookies is 8.9 oz. What is the weight of 2.5
batches of cookies?

6. Ashley’s cookies are of the same size, and she made
2.5 batches of cookies. How much flour did she use for
one batch?

Answer Key

1. 0.45x3=1.35 She needs 1.35 cups of sugar.

2. 1.26>1.026 The green box contains more sugar.

3. 0.75+0.75+0.65=2.15
She has 2.64 kg of flour in total.

1 1
0.75 15
+ 0.75 + 0.65
1.50 2.15

4. 2.15-1.345=0.805 She used 0.805 kg of flour.
1 4

2415
- 1.345
0.805

5. 89x3.5=31.15

The weight of 3.5 batches of cookies is 31.15 oz.
4

8.9 <— onedecimal place

X .5 <«— onedecimal place
T 445
26 7

31.15 <«—twodecimalplaces

6. 0.805+3.5=0.23
She used 0.23 kg of flour for one batch.

.23

3.560.805 ~35S8.05
(& 4

-70

1 05

-1 05
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